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Learning Characteristics
Some of the important characteristics of learning are as given below:

1. Learning is Unitary: It implies that the learner reacts as a whole persons to the whole situation in a unified
way. It means that the learner responds intellectually. emotionally. physically and spiritually at the same time.
This attitude helps in the achievement of educational goals.

Development of skills: A skill is a learned activity that one develops through practice and reflection. It 15 the
ability to perform a learned activity well and at will. Skill, as an ability to perform something, includes
proficiency. competence. and expertise in the activity. Skill refers to learning psycho-motor behaviours
required in the activities such as driving a car or swinging a tennis racket. The development of skills entails the
following stages:

a. Cognitive Stage: Achieved through declarative knowledge

b. Associative Stage: Combining individual steps into larger units

c. Automated Stage: Where the whole procedure can be accomplished without much attention. In the last
stage, the brain process shifts from reflective to reflexive.

Development of Attitudes: Attitude is mental state held by an individual which affects the way that person
responds to events and organizes responses. Attitudes are commonly held to have three essential components
or dimensions:

1. A Cognitive Dimension: Beliefs and rationalizations which explains the holding of the attitudes

ii. An Affective Dimension: Emotional aspects of attitudes, such as likes, dislikes, feeling of distaste, and

ii1. A Conative or Behavioural Dimension which involves the extent to which the individual are prepared to
act on the attitude that they hold.

2. Learning may be planned or unplanned

3. Learning can be active as well as passive

4. Learning 1s usually mdividual. but it can also be collectively generated in groups

5. Learning 1s treated both as a process and as an outcome learning 1s life long process

6. Learning may be incremental-it may add cumulatively to the prior learning or transformation
7. Learning can be stimulated or triggered by any experience, failure, success, and anything else.

Sub questions

Question Number : 1 Question Id : 68634018129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The synonyms of 'unitary' are:

A. Plenary

B. Unabridged
C. Deficient
D. Outright

Choose the correct option:

l.Aand D
22A BandC
3.A.Band D
4. AandD

Options :

68634071601. 1

68634071602. 2

68634071603. 3
68634071604. 4

Question Number : 2 Question Id : 68634018130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the statements carefully and answer.

Statement I: Unitary learning refers to the reaction of the whole person to the whole situation who facilitates
learning.

Statement II: Skill refers to learning psycho-motor behaviours in different activities.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false
4. Statement I 1s false but Statement II 1s true
Options :
68634071605. 1
68634071606. 2

68634071607. 3
68634071608. 4

Question Number : 3 Question Id : 68634018131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a dimension of attitude?

1. Beliefs and rationalization

| B

. Emotional aspects
3. Conative dimension
4. Active and passive dimension

Options :

68634071609. 1
68634071610. 2
68634071611. 3
68634071612. 4

Question Number : 4 Question Id : 68634018132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If analysis: dissection. then synthesis: ?
A. disintegration
B. integration

C. coalescence
D. differentiation

Choose the appropriate answer:
l.LAand C
2.Aand D
3.Band C

4. CandD

Options :

68634071613. 1
68634071614. 2
68634071615. 3
68634071616. 4

Question Number : 5 Question Id : 68634018133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the true about learning?

AL It 1s active as well as passive.

B. Learning is always individual in nature.

C. It can be added cumulatively to the prior learning.
D. It can be stimulated by only negative experiences.

Choose the correct answer from the options given below:
l.Aand B
2.Aand C
3.Band C

4. A BandD

Options :

68634071617. 1
68634071618. 2
68634071619. 3
68634071620. 4
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Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Learning Characteristics
Some of the important characteristics of learning are as given below:

1. Learning is Unitary: It implies that the learner reacts as a whole persons to the whole situation in a unified
way. It means that the learner responds intellectually. emotionally. physically and spiritually at the same time.
This attitude helps in the achievement of educational goals.

Development of skills: A skill is a learned activity that one develops through practice and reflection. It 15 the
ability to perform a learned activity well and at will. Skill, as an ability to perform something, includes
proficiency. competence. and expertise in the activity. Skill refers to learning psycho-motor behaviours
required in the activities such as driving a car or swinging a tennis racket. The development of skills entails the
following stages:

a. Cognitive Stage: Achieved through declarative knowledge

b. Associative Stage: Combining individual steps into larger units

c. Automated Stage: Where the whole procedure can be accomplished without much attention. In the last
stage, the brain process shifts from reflective to reflexive.

Development of Attitudes: Attitude is mental state held by an individual which affects the way that person
responds to events and organizes responses. Attitudes are commonly held to have three essential components
or dimensions:

1. A Cognitive Dimension: Beliefs and rationalizations which explains the holding of the attitudes

ii. An Affective Dimension: Emotional aspects of attitudes, such as likes, dislikes, feeling of distaste, and

ii1. A Conative or Behavioural Dimension which involves the extent to which the individual are prepared to
act on the attitude that they hold.

2. Learning may be planned or unplanned

3. Learning can be active as well as passive

4. Learning 1s usually mdividual. but it can also be collectively generated in groups

5. Learning 1s treated both as a process and as an outcome learning 1s life long process

6. Learning may be incremental-it may add cumulatively to the prior learning or transformation
7. Learning can be stimulated or triggered by any experience, failure, success, and anything else.

Sub questions

Question Number : 1 Question Id : 68634018129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The synonyms of 'unitary' are:

A. Plenary

B. Unabridged
C. Deficient
D. Outright

Choose the correct option:

l.Aand D
22A BandC
3.A.Band D
4. AandD

Options :

68634071601. 1

68634071602. 2

68634071603. 3
68634071604. 4

Question Number : 2 Question Id : 68634018130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the statements carefully and answer.

Statement I: Unitary learning refers to the reaction of the whole person to the whole situation who facilitates
learning.

Statement II: Skill refers to learning psycho-motor behaviours in different activities.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false
4. Statement I 1s false but Statement II 1s true
Options :
68634071605. 1
68634071606. 2

68634071607. 3
68634071608. 4

Question Number : 3 Question Id : 68634018131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a dimension of attitude?

1. Beliefs and rationalization

| B

. Emotional aspects
3. Conative dimension
4. Active and passive dimension

Options :

68634071609. 1
68634071610. 2
68634071611. 3
68634071612 4

Question Number : 4 Question Id : 68634018132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If analysis: dissection. then synthesis: ?
A. disintegration
B. integration

C. coalescence
D. differentiation

Choose the appropriate answer:
l.LAand C
2.Aand D
3.Band C

4. CandD

Options :

68634071613. 1
68634071614. 2
68634071615. 3
68634071616. 4

Question Number : 5 Question Id : 68634018133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the true about learning?
AL It 1s active as well as passive.
B. Learning is always individual in nature.

C. It can be added cumulatively to the prior learning.
D. It can be stimulated by only negative experiences.

Choose the correct answer from the options given below:

l.Aand B
2.Aand C
3.Band C
4. A BandD

Options :

68634071617. 1

68634071618. 2

68634071619. 3
68634071620. 4

Sub-Section Number : 2
Sub-Section Id : 686340599
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634018134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the appropriate meaning of the foreign word: ultra vires
1. Beyond one's authority
2. Super virus
3. Excellent
4. Under consideration

Options :

68634071621. 1
68634071622 2
68634071623. 3
68634071624. 4

Question Number : 6 Question Id : 68634018134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the appropriate meaning of the foreign word: ultra vires

1. Beyond one's authority

| B

. Super virus
3. Excellent

4. Under consideration

Options :

68634071621. 1
68634071622. 2
68634071623. 3
68634071624. 4

Question Number : 7 Question Id : 68634018135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Synonym of the word 'Aversion' 1s:
1. Dislike
2. Audacious
3. Desolate
4. Alleviate
Options :
68634071625. 1
68634071626. 2

68634071627. 3
68634071628. 4

Question Number : 7 Question Id : 68634018135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Synonym of the word 'Aversion' is:

1. Dislike

[ )

. Audacious
3. Desolate
4. Alleviate
Options :

68634071625. 1
68634071626. 2



68634071627. 3
68634071628. 4

Question Number : 8 Question Id : 68634018136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate prepositions given in order from the options given below:
Tust days before the Russian invasion Ukraine, Moscow's forces massing
the border. officials in the medieval town of Lutzen, Germany. afforded landmark status

a Sovietera world war II memorial standing outside a kindergarden in the town center.

1. in. with. of. for

| ]

. in, to. on. with
3. of. with. on. to
4, of. on. to. in

Options :

68634071629. 1
68634071630. 2
68634071631. 3
68634071632. 4

Question Number : 8 Question Id : 68634018136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate prepositions given in order from the options given below:
Tust days before the Russian invasion Ukraine, Moscow's forces massing

the border. officials in the medieval town of Lutzen. Germany, afforded landmark status
a Sovietera world war II memorial standing outside a kindergarden in the town center.

1. in, with. of. for

| ]

. in, to. on. with
3. of. with. on. to
4. of. on. to. in

Options :

68634071629. 1
68634071630. 2
68634071631. 3
68634071632. 4

Question Number : 9 Question Id : 68634018137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



One word substitution for 'Connected with the brain' is:

1. Celestial

| B

. Cardiac
3. Cerebral

4, Carnival

Options :

68634071633. 1
68634071634. 2
68634071635. 3
68634071636. 4

Question Number : 9 Question Id : 68634018137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One word substitution for 'Connected with the brain' is:

1. Celestial

| B

. Cardiac
3. Cerebral

4, Carnival

Options :

68634071633. 1
68634071634. 2
68634071635. 3
68634071636. 4

Question Number : 10 Question Id : 68634018138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with suitable words given below.

Stuti a bit she was not nvited by her friend to attend the party.

1. expressed. than

b2

. surprised. about

L]

. grumbled. when
4. took. before

Options :



68634071637. 1
68634071638. 2
68634071639. 3
68634071640. 4

Question Number : 10 Question Id : 68634018138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with suitable words given below.

Stuti a bit she was not mvited by her friend to attend the party.

1. expressed. than

| B)

. surprised. about

L)

. grumbled. when
4. took. before

Options :

68634071637. 1
68634071638. 2
68634071639. 3
68634071640. 4

Question Number : 11 Question Id : 68634018139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 boys and 5 girls can complete one work in 8 days. 7 boys can complete the work in 4 days. Number of girls
required to finish the work in half day is:

1. 940

|

. 280
3. 560
4.412

Options :

68634071641. 1
68634071642. 2
68634071643. 3
68634071644. 4

Question Number : 11 Question Id : 68634018139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 boys and 5 girls can complete one work in 8 days. 7 boys can complete the work in 4 days. Number of girls
required to finish the work in half day is:

1. 940

| )

. 280
3. 560
4,412

Options :

68634071641. 1
68634071642. 2
68634071643. 3
68634071644. 4

Question Number : 12 Question Id : 68634018140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

§0f40% c;fE of 156 = ?
3 39 —
1.152.6
2.76.8
3.384
4.54.63

Options :

68634071645. 1
68634071646. 2
68634071647. 3
68634071648. 4

Question Number : 12 Question Id : 68634018140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

§0f40% 'DfEDfl_ifﬂ: ?
3 39 —
1.152.6
2.76.8
3. 384

4. 54.63



Options :

68634071645. 1
68634071646. 2
68634071647. 3
68634071648. 4

Question Number : 13 Question Id : 68634018141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- 7 -
The area of the circular round shown as 92 7 m* then value of r 1s:

1.18m

.\;'ﬁm

3.22m

| )

4, 22 m

Options :

68634071649. 1
68634071650. 2
68634071651. 3
68634071652 4

Question Number : 13 Question Id : 68634018141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- 7 N
The area of the circular round shown as 92 7 m* then value of r 1s:

1.18m

.Jﬁm

3.22m

| )

4. 22m

Options :

68634071649. 1
68634071650. 2
68634071651. 3
68634071652. 4

Question Number : 14 Question Id : 68634018142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
108% —104° _ 4
32% - 28

1.3.26

| ]

.3.29

- 3503
4.3.62

Options :

68634071653. 1
68634071654.2
68634071655. 3
68634071656. 4

Question Number : 14 Question Id : 68634018142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



108% —104° _ .
32* - o%*

1.3.26

| ]

.3.29

353
4362

Options :

68634071653. 1
68634071654. 2
68634071655. 3
68634071656. 4

Question Number : 15 Question Id : 68634018143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The average of first 50 terms of the given series 1.3.5.7 is:

L.

b
[ ]

[ )
L
=

Lad
-1
L

4. 100

Options :

68634071657. 1
68634071658. 2
68634071659. 3
68634071660. 4

Question Number : 15 Question Id : 68634018143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The average of first 50 terms of the given series 1,3.5.7 is:

1.

=
L]

[ )
L
=

L]
|
L]

4. 100

Options :
68634071657. 1



68634071658. 2
68634071659. 3
68634071660. 4

Question Number : 16 Question Id : 68634018144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Next number in the given series
27, 64, 125, 216, 343, 1s:

[ ]
]
—
[ )

4. 559

Options :

68634071661. 1
68634071662. 2
68634071663. 3
68634071664. 4

Question Number : 16 Question Id : 68634018144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Next number in the given series
27, 64, 125, 216, 343, 1s:

4. 559

Options :

68634071661. 1
68634071662. 2
68634071663. 3
68634071664. 4

Question Number : 17 Question Id : 68634018145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Problem figure is embedded in which of the following alternatives?

Problem figure

2

Options :

68634071665. 1
68634071666. 2
68634071667. 3
68634071668. 4

Question Number : 17 Question Id : 68634018145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Problem figure is embedded in which of the following alternatives?

Problem figure

2

Options :

68634071665. 1
68634071666. 2
68634071667. 3
68634071668. 4

Question Number : 18 Question Id : 68634018146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

BLOCKED is related to YOLXPVW in the same way as OZFMXS 1is related to

1. LAUNCH

(B

. DEBATE
3. RESULT

4 LABOUR

Options :

68634071669. 1
68634071670. 2
68634071671. 3
68634071672. 4



Question Number : 18 Question Id : 68634018146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

BLOCKED is related to YOLXPVW in the same way as OZFMXS 1is related to

1. LAUNCH

(B

. DEBATE
3. RESULT

4 LABOUR

Options :

68634071669. 1
68634071670. 2
68634071671. 3
68634071672. 4

Question Number : 19 Question Id : 68634018147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing towards a girl. Anand said "This girl is the daughter of a only child of my father". What is the relation
of Anand's wife to that girl?

1. Daughter

ol

2. Mother
3. Aunt
4. Sister

Options :

68634071673. 1
68634071674. 2
68634071675. 3
68634071676. 4

Question Number : 19 Question Id : 68634018147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pointing towards a girl. Anand said "This girl 1s the daughter of a only child of my father". What is the relation
of Anand's wife to that girl?

1. Daughter
2. Mother
3. Aunt

4. Sister

Options :

68634071673. 1
68634071674. 2
68634071675. 3
68634071676. 4

Question Number : 20 Question Id : 68634018148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In a joint family of seven persons A. B, C, D. E. F and G, how B i1s related to E?
Given that -

A. There are two married couples

B. G is a house wife and her husband in a lawyer

C. C is the wife of B. A is an engineer and grand daughter of G'

D. D is the father-in-law of C. a doctor and father of E, a professor
E. F is A's brother and B's son

Choose the correct answer from the options given below:

1. Sister

| ]

. Uncle
3. Cousin

4. Brother

Options :

68634071677. 1
68634071678. 2
68634071679. 3
68634071680. 4

Question Number : 20 Question Id : 68634018148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a joint family of seven persons A, B, C, D, E. F and G. how B is related to E?
Given that -

A. There are two married couples

B. G 1s a house wife and her husband mn a lawyer

C. C 1s the wife of B, A 1s an engineer and grand daughter of G'

D. D 1s the father-in-law of C. a doctor and father of E, a professor
E. F is A's brother and B's son

Choose the correct answer from the options given below:

1. Sister

| ]

. Unecle

L¥%]

. Cousin
4. Brother

Options :

68634071677. 1
68634071678. 2
68634071679. 3
68634071680. 4

Question Number : 21 Question Id : 68634018149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The first Indian. who win the Noble Prize. is:
1. C.V. Raman
2. Amritaya Sen
3. Rabindra Nath Tagore

4. Chandershelhar Subramaniam

Options :

68634071681. 1
68634071682. 2
68634071683. 3
68634071684. 4

Question Number : 21 Question Id : 68634018149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The first Indian. who win the Noble Prize. is:

1. C. V. Raman

| B

. Amritaya Sen
3. Rabindra Nath Tagore

4, Chandershekhar Subramaniam

Options :

68634071681. 1
68634071682. 2
68634071683. 3
68634071684. 4

Question Number : 22 Question Id : 68634018150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the founding members of OPEC i 1960.

AL Qatar

B. Iran

C. Iraq

D. Kuwait

E. Saudi Arabia
F. Venezuela

Choose the correct answer from the options given below:

1.B.C.D.E and F only

[ ]

.A.B.C.DandE only
3.A.B.D.E and F only

4. A,C.D, Eand F only

Options :

68634071685. 1
68634071686. 2
68634071687. 3
68634071688. 4

Question Number : 22 Question Id : 68634018150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the founding members of OPEC in 1960.

AL Qatar

B. Iran

C. Iraq

D. Kuwait

E. Saudi Arabia
F. Venezuela

Choose the correct answer from the options given below:
1.B.C.D. E and F only
2.A B.C.DandE only
3.A.B.D.E and F only

4. A,C.D, Eand F only

Options :

68634071685. 1
68634071686. 2
68634071687. 3
68634071688. 4

Question Number : 23 Question Id : 68634018151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which 1s the largest Upanishad?

1. Brihadara nyaba

[ )

. Chadogya

L]

. Aitareya
4. Katho

Options :

68634071689. 1
68634071690. 2
68634071691. 3
68634071692. 4

Question Number : 23 Question Id : 68634018151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which 1s the largest Upanishad?

1. Brihadara nyaba

| B

. Chadogya

LIF¥]

. Aitareya
4. Katho

Options :

68634071689. 1
68634071690. 2
68634071691. 3
68634071692. 4

Question Number : 24 Question Id : 68634018152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Arbitration is defined as:
1. the settlement of labour disputes that takes place between employer and the employees
2. the settlement of disputes between different companies of a large organisation
3. the accounting for expenses or charges as applicable rather than as paid
4, the indicator of self sufficiency of a country
Options :
68634071693. 1
68634071694. 2

68634071695. 3
68634071696. 4

Question Number : 24 Question Id : 68634018152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Arbitration 1s defined as:

1. the settlement of labour disputes that takes place between employer and the employees

2

. the settlement of disputes between different companies of a large organisation
3. the accounting for expenses or charges as applicable rather than as paid
4, the indicator of self sufficiency of a country

Options :

68634071693. 1
68634071694. 2



68634071695. 3
68634071696. 4

Question Number : 25 Question Id : 68634018153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Year 2023 is celebrated as International Year of.

1. Plant Health

[ ]

. Millets
3. Save Earth
4. Sustainable Development
Options :
68634071697. 1
68634071698. 2

68634071699. 3
68634071700. 4

Question Number : 25 Question Id : 68634018153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Year 2023 is celebrated as International Year of.
1. Plant Health
2. Millets
3. Save Earth
4. Sustainable Development
Options :
68634071697. 1
68634071698. 2

68634071699. 3
68634071700. 4

Part B: Geophysics

Section Id : 686340360
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear Response : Yes



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 686340600
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634018154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . . . . . s . _ . .
A person is standing inside a lift descending at 3 ms™ acceleration. The ficticious force acting on the person in

this non inertial frame of lift is (Mass of man = 75 kg and g = 10ms™):

1.525N

| )

= 525N

4.—225N

Options :

68634071701. 1
68634071702. 2
68634071703. 3
68634071704. 4

Question Number : 26 Question Id : 68634018154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS S 3 ms™ & @01 Y A1 B 3R MaHH fiide & ofax Gsl 51 folde & 39 seisw@iy e § aufdd
TR BHIRT AT 90 ¢ (AT PTEAAH =75 kg T g= 10ms ™) :

1.525 N

-2
I
N
[ ]
n
.

4. —225N

Options :

68634071701. 1
68634071702. 2
68634071703. 3
68634071704. 4

Question Number : 27 Question Id : 68634018155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The force exerted on the rocket is 10 x 10!? erg. If exhaust speed of the rocket is 200 km/s. then the fuel
consumed by rocket motor in 40 seconds is:

1.2.5 x10%kg
2. 40 x10¥ kg
3.2.0 x10' kg
4.5.0x10' kg
Options :
68634071705. 1
68634071706. 2

68634071707. 3
68634071708. 4

Question Number : 27 Question Id : 68634018155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e TR AT e T 10 x 101 erg §1 4T e F i 4T ST =1e 200 kan 57 BT 71 40 Tebs HAdbe
Tex §RT o9 $EH &

1.2.5x 100 kg

|

.40 x 100 kg
3.2.0x 10 kg
4.5.0 = 101 kg

Options :

68634071705. 1
68634071706. 2
68634071707. 3
68634071708. 4

Question Number : 28 Question Id : 68634018156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An object of mass m is hanging in a car which 1s accelerating at 10 ms= (as shown in figure). The tension in
the string in the non inertial car frame is (given. g = acceleration due to gravity):

%]

l.m(g>+10)!

%]

2.m( g%+ 50)!
3.mg+ 100)
4. m (g?+100)12

Options :

68634071709. 1
68634071710. 2
68634071711. 3
68634071712. 4

Question Number : 28 Question Id : 68634018156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI o & SER. m So0HH &1 U 93] 10 ms & @A 61 ¥6] UP @R § A 351 ol Sisdd BR
1 8 SR H a1 § (441 8. g = ol @RU):

=]

1.m(g*+ 10)!

[

2.m( g%+ 50)!
3. m(g+ 100)
4.m (g>+100)!2
Options :
68634071709. 1

68634071710. 2
68634071711. 3



68634071712. 4

Question Number : 29 Question Id : 68634018157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; c C ;
Sy > < « S,

Two sources at rest are sending light signals towards each other. A per Galilean transformation the velocity of
approach of the signals 1s:

l.c

[
| ]
'¢]

4.08¢

Options :

68634071713. 1
68634071714. 2
68634071715. 3
68634071716. 4

Question Number : 29 Question Id : 68634018157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

C C

S > < S,

faRT o 4T & |id U R &1 SR HbTx1 e 4101 38 © | TIeiierds S UiRul & 4R, U GeR &
3R 3T aTel Rl @1 a7 &

l.c

[ ]
| ]
L#]

4. 08¢

Options :

68634071713. 1
68634071714. 2
68634071715. 3
68634071716. 4

Question Number : 30 Question Id : 68634018158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the following equations of two simple harmonic motions along X axis and Y axis respectively.
x = asin ot and y = Db sin (ot + 6). where x and y are displacement of time t.
The resultant of motion of particle under the mfluence of above SHMs is:

¥ oy 2xy . 3
I — =y —lcusqﬁ':sm‘g&
= © ab

voooxt 2xy _—
A ——+——cos@ =sin" ¢
a a abh

[ ]

V 2xy 5.
Y —— ————gos¢ =sin"
b a ab ¢ ¢

yvoox xy ;
= _cosg=sin’¢
b a  2ab

Options :

68634071717. 1
68634071718. 2
68634071719. 3
68634071720. 4

Question Number : 30 Question Id : 68634018158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DHLX TUT Y 3H&f & SIS &l T SH1aq Aad! & [ FafiRad JHie-ul gieu
x=asiru:utﬂfir

y=b sin (ot +8). S8 IHYT t UR [GRITT x 9 v & | SUIdd TR 3M1ad il & YHId & Sid Sl ol
gRumHt i 9 UeR o

¥ ¥ 2xy .3
1 — gy —}i:iquﬁ:sm‘gaﬁ
a b  ab
2 oxt 2xy ;%
2 'h —1+-—Jc05;ﬂr=sm'(ﬁ
a a ab
2 X 2xy ;s
3-1—, . —"—cosgi-=sm‘}¢5
b a ab
y¥ooxt Xy .
4 — - —+——cos¢=sin" ¢
b a  2ab
Options :
68634071717.

1
68634071718. 2
68634071719. 3
68634071720. 4



Question Number : 31 Question Id : 68634018159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: The moment of Inertia of a thick shell about its diameter with external and internal radii 3 m. 2

m respectively is 84.4 kg m? if mass of the shell is 19 kg .
] . : : 2 R=p’
Reason R: Moment of inertia of such shell about diameter is o

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

b2

. Both & and R are correct and R is NOT the correct explanation of A
3. Alis correct but R is not correct

4. Ais not correct but R is correct

Options :

68634071721. 1
68634071722. 2
68634071723. 3
68634071724. 4

Question Number : 31 Question Id : 68634018159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR A FERUME & MFUTF AT ITH RIS AR STS FRUR FIUH

AHfUBYT A: FEY: 3m TUT 2m D1 TTe] YT AR Boarad & e Gie My HI &1 59 I8 &
ORT STs@ YUl 84.4 kg m? § STah DI BT ZoOHT 19 ke B

Wﬂtmwﬁmmm%qﬁﬂ:mwg[?”i
)

SWRIGd DY & el 1, A [ 7Y fasedl & O 9ad Suged 3o &l 99 HIT:
1. ST BUT 1 AR T TR
2. AHI B 1 SR I 7Ed §
3. BUA 1R 5. Afp HUF 11 7T &
4. BYF TR &, Wi PYUT 1 HEI &

Options :
68634071721. 1
68634071722. 2



68634071723.3
68634071724. 4

Question Number : 32 Question Id : 68634018160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The quantities which are invariant under Galilean transformation are:
A. Length
B. Velocity
C. Acceleration
D. Momentum

Choose the correct option

1.Aand C

| )

.A.Band C
3.Band C
4. Only D
Options :
68634071725. 1
68634071726. 2

68634071727. 3
68634071728. 4

Question Number : 32 Question Id : 68634018160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&I It TREt e Suravor & saiafdd wdi &
A THERE
B. O
C. @R
D. a7

i feU T fasedl O I gl STk &1 994 Hifeig:
1.ATdC
2.A.BUGC
3.BUEC
4. $dd D

Options :



68634071725. 1
68634071726. 2
68634071727. 3
68634071728. 4

Question Number : 33 Question Id : 68634018161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: The moment of inertia of a thin rod of mass M about on axis passing through its one end and

perpendicular to its length(/) is M [:—_2 - %}

Statement IT: Radius of gyration of a thick shell of external radius R and internal radius r about its diameter 1s

2 B =3

K.such that K2=Z=

-

R -r?
In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement | and Statement Il are carrect
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. statement | is incorrect but Statement Il is correct

Options :

68634071729. 1

68634071730. 2

68634071731.3
68634071732. 4

Question Number : 33 Question Id : 68634018161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁ%ra*laiwﬁﬂﬂﬂ%

HYF I: UH M G DI Idd] 95 B 0] awals (/) & araad q4T Ud 59 U R Y ToR- aral 18]

% Ui Sreed Sl M[.;’_z:ﬂ

HY I1: 9T 501 R TYT SIS 5501 ¢ 31 U TIE Mg BIY 1 gHP o o g 90 BT K 8.

s E[E-_*J

5| R2-7°

SWRIGd DY & Helld 1, Hid S 7Y fadheul & 9 a9 SUgad 3ok &l 99 HITT;
1S pYUT1 3R T Hel &
2. GFI PYF 1 R 11 7TEd §

3.
B [ UE! ©. Afh DY 11 7Tad &

4,
HYT 1T &, AT HUT I 9E &

Options :

68634071729. 1
68634071730. 2
68634071731. 3
68634071732. 4

Question Number : 34 Question Id : 68634018162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two simple harmonic motions (SHMs):

. acting on a particle in the same direction gives phenomenon of beats .

. acting on a particle on perpendicular directions given phenomenon of Lissajous figure.
. acting on a particle on the same direction gives phenomenon of Lissajous figure.

. acting on a particle in perpendicular directions gives phenomenon of beats.

(o Wve I

Choose the correct statements answer from the options given below:
1. A and B only
2. C and D only
3. Aand C only

4. B and D only

Options :
68634071733. 1
68634071734. 2



68634071735.3
68634071736. 4

Question Number : 34 Question Id : 68634018162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&I WRE 31ad el (9.3

A T Horw gae feen § ordvd 9,371, fowg< aRger uaH &dl § |
B. fdl &ur R dgad feun & ek 930177, feraiorg i ugH &t o

c. fodt wr = vuE e § srdva 9,807 forgioy iF yeH &l g

D. {8t HUT R Trad fozn & Srika 9.3 77, faeg< ufge-1 ueH &l g

i foU T faeedl O © ¥el 3R &1 99 Sifoy ;
1.PdTATB
2.PagCdD
3. PagAdC
4. PdIBAD

Options :

68634071733. 1
68634071734. 2
68634071735. 3
68634071736. 4

Question Number : 35 Question Id : 68634018163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

: List IT
it (Radius of
MI (Moment of Inertia) Gyration)
A |Solid sphere rotating about its tangent L %
Hollow cylinder about its own axis with R
B ; I |—
external radius R 3
C NI of thin rod about an x axis passing 111 (77 R
" [through centre and perpendicular to length " s
D. [MI of disc about its diameter i [
7

Choose the correct answer trom the options given below:

1. A-IIL B-IV. C-I, D-II
2. A-I. B-II. C-III. D-IV
3. A-IV, B-III. C-1, D-II
4. A-IIL. B-IV. C-II. D-I

Options :

68634071737. 1

68634071738. 2

68634071739. 3
68634071740. 4

Question Number : 35 Question Id : 68634018163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

A1 11
(S8 3T firsm)
A [dfemd uRd: gRATgen STl | T %
U S& & URd: JHI g3 9l AR R
B. | W o=
. [ooei B8 & g W TR arell Tt & e
> e o URd: DT ASd AT M5 )*
D, [P & URa: giH arell godi s wisd | [ (R +7)
[t )
fafaRad faeedl O ¥ 98l 3R &1 994 Sifo

1. A-IIIL, B-IV. C-I, D-II

| )

A-L B-II, C-III. D-IV
3. A-IV. B-III. C-I. D-II
4. A-III B-IV. C-I1. D-I

Options :

68634071737. 1
68634071738. 2
68634071739. 3
68634071740. 4

Question Number : 36 Question Id : 68634018164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Electric field E is a conservative field. For the steady field. VxEis:
1.1

2. Zero

Options :

68634071741. 1
68634071742.2
68634071743. 3
68634071744. 4



Question Number : 36 Question Id : 68634018164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dqgd & E U TRl & 5| RIS &7 o o, V E J18:
11

2. Zero

Options :

68634071741. 1
68634071742. 2
68634071743. 3
68634071744. 4

Question Number : 37 Question Id : 68634018165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An electron 1s accelerated through a potential difference of 4.55 kV. The velocity of electron. if it mitially

started from rest is (given, mass of electron =9.1 x 10 ! kg):

1.2 %10 ms!

x 10" ms !

[ ]
e

% 10" ms !

[F5]
Lo

107 me!

4.

n

Options :

68634071745. 1
68634071746. 2
68634071747. 3
68634071748. 4

Question Number : 37 Question Id : 68634018165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foralt gaiaeTa @I 4.55 kv favamR gR1 aRd fdar oiar g1 afs a8 favmews T UR™ &1 § d 59T
ane (feune. saagi- &1 GoHH = 0.1x10 3 k).

1

—
]

2% 10" ms™

x 10" ms~!

2
e

3.3 %10 ms!

x 10" ms~!

4,

L

Options :

68634071745. 1
68634071746. 2
68634071747. 3
68634071748. 4

Question Number : 38 Question Id : 68634018166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If the fields of an electromagnetic wave propagate in a medium are represented as:

E =20 cos (ot +157) V™! and H= 0.5 cos (wt-157) Am™!

The intrinsic impedance of the medium is:

1. 40 £0°

| )

40 150

Lad

.40 2300
4. 40 ~-30°

Options :

68634071749. 1
68634071750. 2
68634071751. 3
68634071752. 4

Question Number : 38 Question Id : 68634018166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe farsil Hregm 7 S9N U faagd Jad i a1 & &3 HH TeR Foid ©;
E =20 cos (ot + 15°) Vi~ GUTH = 0.5 cos (et - 15")A111_1
e B e wifcraren Fan @

1. 40 £Q°

-2

A0 150

L¥N]

40 2300
4.40 £ -30°

Options :

68634071749. 1
68634071750. 2
68634071751. 3
68634071752. 4

Question Number : 39 Question Id : 68634018167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When an electromagnetic wave propagates in a conductive medium, the successive maximum amplitudes of

1 i i ' | . : = . . 2
the magnetic field intensity H occurs ~ cyeles later than the maximum amplitude of the electric field intensity
n

E . The value of 'n" 1s :

4.8

Options :

68634071753. 1
68634071754.2
68634071755. 3
68634071756. 4

Question Number : 39 Question Id : 68634018167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e U (dggd ga@ i a7 U qarae q1eqd & IRiud §idl & of dggd &9 &1 e H &1 ifean
STATE A L <TohT & U AT & B il E BT ST HUDTH ST W Sl g 1w PIHAF T :

[ |

| )
| )

4.8

Options :

68634071753. 1
68634071754. 2
68634071755. 3
68634071756. 4

Question Number : 40 Question Id : 68634018168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is essential for diffraction pattern:
1. Polychromatic light
2. A narrow slit

3. two coherent sources

4. Screen at a distance of less than 4m from the slit

Options :

68634071757. 1
68634071758. 2
68634071759. 3
68634071760. 4

Question Number : 40 Question Id : 68634018168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634071757. 1
68634071758. 2
68634071759. 3
68634071760. 4

Question Number : 41 Question Id : 68634018169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R.

Assertion A: The intrinsic impedance of two different media may be same. even if they have different
permittivities and permeabilities

Reason R: The intrinsic impedance of a medium does not depend on permittivity and permeability of the
medium .

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R 1s false

4, A is false but R is true

Options :

68634071761. 1
68634071762. 2
68634071763. 3
68634071764. 4

Question Number : 41 Question Id : 68634018169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634071761. 1
68634071762.2
68634071763. 3
68634071764. 4

Question Number : 42 Question Id : 68634018170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the following statements:

A. A p-type semiconductor 1s uncharged.

B. When semiconductor is doped with a donor impurity. electron concentration decreases.
C. In a semiconductor, there are no free electron at 0 K.

D. In normal operation of a transistor. the base collector junction is forward biased.

Choose the correct answer from the options given below:
1. A and C only
2. B and D only
3. Aand B only

4. C and D only

Options :

68634071765. 1
68634071766. 2
68634071767. 3
68634071768. 4

Question Number : 42 Question Id : 68634018170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafead U @1 ufeu:
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Options :

68634071765. 1
68634071766. 2
68634071767. 3
68634071768. 4

Question Number : 43 Question Id : 68634018171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: If a charge moves with uniform velocity. it produces time varying electromagnetic field.

Statement IT: If charge oscillates with a frequency of 2 GHz. it produces the electromagnetic radiation of 2
GHz

In the light of the above statements. choose the eorrect answer from the options given below.

1. Both Statement I and Statement II are true

[ ]

. Both Statement I and Statement II are false

LF%]

. Statement I is true but Statement II 1s false

4. Statement [ is false but Statement IT 1s true

Options :

68634071769. 1
68634071770. 2
68634071771. 3
68634071772. 4

Question Number : 43 Question Id : 68634018171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634071769. 1
68634071770. 2
68634071771.3
68634071772. 4

Question Number : 44 Question Id : 68634018172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Maxwell's equations which are NOT valid for traveling electromagnetic wave are:

A-ﬁ'.f)Zp\_.
B.VxE=0
cD
c. PHxdl=J_ +|—dS
I5
D.VxH=]
E. -@E.dl:ﬂ

Choose the correct answer from the options given below:
1. C and E only
2.B and D only
3.A.Band D only

4. B.D and E only

Options :

68634071773. 1
68634071774. 2
68634071775. 3
68634071776. 4

Question Number : 44 Question Id : 68634018172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. BT CTE
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Options :

68634071773. 1
68634071774. 2
68634071775. 3
68634071776. 4

Question Number : 45 Question Id : 68634018173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

List 1 List IT
(Tvpe of wave) {(Detection)
A Microwave I. |Photocells
B. [K-ravs II. |Point contact diode
C. |Infrared II1. lonisation chamber
D._ [Ultraviolet IV |Thermopiles Bolometer

Choose the correct answer from the options given below:

1. A-II. B-III. C-I. D-IV

[ ]

CA-IV, B-IIIL. C-I1, D-I

L]

A-IL B-IIL C-IV, D-I
4. A-IIT, B-11. C-IV. D-I

Options :

68634071777. 1
68634071778. 2
68634071779. 3
68634071780. 4

Question Number : 45 Question Id : 68634018173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg
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B. [X- [ 1L [fle 90 S/Ere
C. |3a¥ad 111 |31311% UPIE
D. [RIeT IV. [errrge araiieR
frafaRad famedl # I T8t SR o1 997 St :

1. A-II. B-III. C-I. D-IV
2. A-IV. B-IIL. C-I1. D-I
3. AL B-IIL. C-IV. D-1
4. A-III. B-11. C-IV. D-1

Options :

68634071777. 1

68634071778. 2

68634071779. 3
68634071780. 4



Question Number : 46 Question Id : 68634018174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Brewter's law is related to the study:
1. particle nature of light.
2. mechanical nature of light.
3. Longitudinal nature of light.
4. Transverse nature of light.
Options :
68634071781. 1
68634071782.2

68634071783. 3
68634071784. 4

Question Number : 46 Question Id : 68634018174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634071781. 1
68634071782. 2
68634071783.3
68634071784. 4
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Question Number : 47 Question Id : 68634018175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following laser works as four level laser using indirect pumping:

1. Ruby

| B

. He-Ne
3. Semiconductor
4. Nd: YAG
Options :
68634071785. 1
68634071786. 2

68634071787. 3
68634071788. 4

Question Number : 47 Question Id : 68634018175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafafad o 9 &1 91 Ao HUs 9itR &1 Judi @3 IR W1 oR $1 e B Hdl 6:
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feferan gl
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Options :

68634071785. 1
68634071786. 2
68634071787. 3
68634071788. 4

Question Number : 48 Question Id : 68634018176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Newton's ring experiment the diameter of nt® ring changes from 1.6 em to 1.25 em when liquid is

introduced in the gap between the lens and the glass plate. The refractive index of the liquid 15 nearly:

1.13

[ ]

1.4
3.1.5

416

Options :
68634071789. 1



68634071790. 2
68634071791. 3
68634071792. 4

Question Number : 48 Question Id : 68634018176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634071789. 1
68634071790. 2
68634071791. 3
68634071792. 4

Question Number : 49 Question Id : 68634018177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If unpolarized light of intensity (I,) is ncident on a polarizer, then it gets transmited and stays constant in

intensity on rotation of the polarizer. The intensity of transmitted light is :

1.1

o

| ]

4, Zero

Options :

68634071793. 1
68634071794. 2
68634071795. 3
68634071796. 4

Question Number : 49 Question Id : 68634018177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. Zero

Options :

68634071793. 1
68634071794. 2
68634071795. 3
68634071796. 4

Question Number : 50 Question Id : 68634018178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to Huygens wave theory. which of the following wave does not produced secondary wavelets:

1. Light traveling in air

2

. gravitational wave
3. wave traveling in free space
4. Ultrasonic wave

Options :

68634071797. 1
68634071798. 2
68634071799. 3
68634071800. 4

Question Number : 50 Question Id : 68634018178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634071797. 1
68634071798. 2
68634071799. 3
68634071800. 4

Question Number : 51 Question Id : 68634018179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Two sources S; and S, emit the following two waves ¥, = @, sin @f and y, = a, sin(@f £ J).

These waves produce interference pattern if 5 changes randomly with time.

Reason R: S; and S, must be coherent for the production of interference pattern.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct and R 18 NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634071801. 1
68634071802. 2
68634071803. 3
68634071804. 4

Question Number : 51 Question Id : 68634018179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634071801. 1
68634071802. 2
68634071803. 3
68634071804. 4

Question Number : 52 Question Id : 68634018180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following statements for Newton's rings:

A. The thickness of the ring increases when ring number increases.
B. Fringe width decreases when ring number increases.
C. Fringe width decreases when ring number decreases.
D. The thickness of the ring increases when ring number decreases.

Choose the correct answer trom the options given below:
1. Aand B only
2. C and D only
3. Aand C only

4. B and D only

Options :

68634071805. 1
68634071806. 2
68634071807. 3
68634071808. 4

Question Number : 52 Question Id : 68634018180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
e 1 & for Hiaad sy uiee:

A T 5@ & g1 R R &1 1ier g8t o
B. {71 T & g4 R b &t Iisf gedi g1
c. o dwen & ged R fibe ot Ieft uedi @
D. i1 9@ & ged R R &t Aiers sgdi 8

i fSu U [deedl H§ U 9ol 3R &1 944 SI1olU:
1.PITATB
2. @%dd cdD
3.%a0 ATC
4.%dd BAD

Options :

68634071805. 1
68634071806. 2
68634071807. 3
68634071808. 4

Question Number : 53 Question Id : 68634018181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Stimulated emission can take place only between two energy levels. when upper level is meta
stable.

Statement IT: Metastable state and population inversion are not required for stimulated emission.
In the light of the above statements. choose the eorrect answer from the options given below.

1. Both Statement I and Statement I are true

| B

. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false

4, Statement [ is false but Statement II is true

Options :

68634071809. 1
68634071810. 2
68634071811. 3
68634071812. 4



Question Number : 53 Question Id : 68634018181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634071809. 1
68634071810. 2
68634071811. 3
68634071812. 4

Question Number : 54 Question Id : 68634018182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the following statements:

A. A sodium atom radiates for 5 ps. The coherence length of light from a sodium lamp is 1.5 mm.

B. Wave packet is a harmonic wave.

C. A wave train contains about a million wave oscillations in it.

D. Coherence refers to the connection between the phase of light waves at one point and time with the phase
of light waves at another point and time.

Choose the most appropriate answer from the options given below:
1. A and B only
2. B and C only
3.A.Cand D only
4, A. Band C only
Options :
68634071813. 1

68634071814. 2
68634071815. 3



68634071816. 4

Question Number : 54 Question Id : 68634018182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634071813. 1
68634071814.2
68634071815. 3
68634071816. 4

Question Number : 55 Question Id : 68634018183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
A |Semiconductor laser I |CD player
B. [Ruby laser II. |bar code reading
C. [Helium- Neon laser III. |four level molecular laser
D. |Carbon dioxide laser IV |doped insulator laser

Choose the correct answer trom the options given below:

1. A-IV, B-1, C-IV. D-II

[ E)

CA-L B-IV. C-I1, D-IIT

L]

CA-L B-III, C-IV. D-II
4. A-III. B-IV. C-II. D-I

Options :



68634071817. 1
68634071818. 2
68634071819. 3
68634071820. 4

Question Number : 55 Question Id : 68634018183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 g 11 9 e fife
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A |sfeErdd dor il CEEEE
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1. A-IV. B-1. C-IV, D-II

|

CA-L B-TIV. C-11, D-III
3. A-L. B-IT1, C-IV. D-II
4. A-III, B-IV. C-II, D-1

Options :

68634071817. 1
68634071818.2
68634071819. 3
68634071820. 4

Question Number : 56 Question Id : 68634018184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The slope between E; (kinetic energy of photo electron) and v (frequency of radiation) has the dimensions

similar to:

1. angular frequency

| ]

. angular momentum
3. momentum
4. energy

Options :

68634071821. 1
68634071822. 2
68634071823. 3
68634071824. 4



Question Number : 56 Question Id : 68634018184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634071821. 1
68634071822. 2

68634071823. 3
68634071824. 4

Question Number : 57 Question Id : 68634018185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Change in entropy for the process A B C D A (as shown in figure) 1s :

o—=>P(Nm?)

1. Greater than 1
2. In between zero and 1
3. less than zero
4. equal to zero
Options :
68634071825. 1
68634071826. 2

68634071827. 3
68634071828. 4



Question Number : 57 Question Id : 68634018185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Options :

68634071825. 1
68634071826. 2
68634071827. 3
68634071828. 4

Question Number : 58 Question Id : 68634018186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct Maxwell's relation from the options given below (Given. P = pressure, V =volume. T =
temperature and S = entropy):

Options :
68634071829. 1



68634071830. 2
68634071831. 3
68634071832. 4

Question Number : 58 Question Id : 68634018186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-ita &l T fapedl § U5t Houda S Y (731 P= 316, V= 3T4dH, T= di9aH aul s= Tg):
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Options :

68634071829. 1
68634071830. 2
68634071831. 3
68634071832. 4

Question Number : 59 Question Id : 68634018187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A specific light 1s used in an experiment on photoelectric effect. The stopping potential is related to:

1. longest wavelength

[

. largest frequency
3. mean wavelength
4. smallest frequency

Options :

68634071833. 1
68634071834. 2
68634071835. 3
68634071836. 4

Question Number : 59 Question Id : 68634018187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRTRI dggd WHTd o R H Ue [afRTp U2l &1 I9ai fdear oirar o | FRie fava oo sefa o
1. 3fi@aq aredd

IR g
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Options :

68634071833. 1
68634071834. 2
68634071835. 3
68634071836. 4
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=

Question Number : 60 Question Id : 68634018188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(d
If a solid 1s converted into liquid. there 1s an increase in volume. Then quantity | = W 18
1 1 /

1. positive

| )

. negative
3. zero

4. infinite

Options :

68634071837. 1
68634071838. 2
68634071839. 3
68634071840. 4

Question Number : 60 Question Id : 68634018188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe foodt 319 500 & §ge oidl 6. 5991 Hgd- dedi ol aa"ﬂiﬁf%]%:
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Options :
68634071837. 1
68634071838. 2

68634071839. 3
68634071840. 4

Question Number : 61 Question Id : 68634018189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 15 labelled as Reason R.

Assertion A: An electron is in a box of side 0.1 mm. Its first permitted energy is 37.5 eV.

Reason R: Permitted electron energies in the above box are 37.5 n? eV (given h = 6.62x107%s and mass of
electron=9.1x101 kg)

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

[ ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. Ais true but R 1s false

4, A is false but R is true

Options :

68634071841. 1
68634071842. 2
68634071843. 3
68634071844. 4

Question Number : 61 Question Id : 68634018189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 31 U= U U B, TP HBYT (Assertion A) P Y H [RET T A G¥RT IHD BRI (Reason R)SF T
b

HTUHYT A: TH SAGEH 0.1 mm SIS & U 8169 1 (YT B SHB! HUH 3THT il is 37.5 eV B

BRI R: IIRIGH Fiaq H 00 sade Sl 37.5 n2 eV 5. (RTT8. h = 6.62x107* Js Td SdaeH P1
GO = 9.1x107! kg)

SRIGd HYF & AP 1, A9 U T e & O 9a8 Jel Ia &1 997 Sifo
1. A 3R R &Ml ¥6I & AUTR, A P! Ug! ARAT &

AIRRIT TS EAUR AT TS IR T &

AYSI g AlPAR A &

AT R AfPIR T ®

b2
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s

Options :

68634071841. 1
68634071842. 2
68634071843. 3
68634071844. 4

Question Number : 62 Question Id : 68634018190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following statements:

A, Paramagnetic substance can be used as working substance of an engine.

B. Only gas can be used as working substance in the operation of the engine.

C. Enthalpy is a function of entropy and pressure .

D. According to laws of thermodynamics. internal energy 1s the function of pressure and volume.

Choose the correct answer from the options given below:

1. Aand B only

| B)

.B and C only
3. C and D only
4. A and C only

Options :

68634071845. 1
68634071846. 2
68634071847. 3
68634071848. 4



Question Number : 62 Question Id : 68634018190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeiad oyl @ afeu:

A, Todl S0 § FeRI tard & 30 SFEed gard &1 3ugi a1 5 9adl ¢ |
B. o @1 a1 § o 19 & SieR] Uard & 39 T §arT far off 9&dr g

C. Tiied e 9T 319 &1 Had gkl
D. SHAT®! & FOAFIR, <IRE 3ol ald U4 3Tad- &1 Ba- aidl |

i faU T faeedi § § el 3Tk &1 994 Hifeiu:
1.PITATB
2. PagBdC
3.PagCdD
4. PITATC

Options :

68634071845. 1
68634071846. 2
68634071847. 3
68634071848. 4

Question Number : 63 Question Id : 68634018191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I:The principle of Michelson Morley experiment is based on division of amplitude.

Statement II: Michelson Morley experiment can be used for measurement of refractive indices of liquids and
oases.

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement I are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT is false
4, Statement [ is false but Statement II is true

Options :

68634071849. 1

68634071850. 2

68634071851. 3
68634071852. 4



Question Number : 63 Question Id : 68634018191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR RymE:
BYT1: TSHeE HId TR DT RIGId S & faHIeH IR eeia g |
YA I1: HSH e el W4T &1 UGN gdi d 1141 & 3Madd-id! & A9 & fooar of I&ar g1
SRIGd YA & AP 5, A S0 U [dbed] § U ol 3aR &I 994 DIoIT:
1. & PYT1 AR 11981 8
2 T B 1 SR e TR
3. BYT 161 8. Qb1 YA 11 7TAd &
4. HYF 17Ted &, Cifcbd BUA I Tl ©

Options :

68634071849. 1
68634071850. 2
68634071851. 3
68634071852. 4

Question Number : 64 Question Id : 68634018192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correct statements on Raman Effect are:

A. For elastic scattering, the frequency of scattered light remains the same as that of incident radiation.
B. The color of the sky on a clear day 1s blue due to the scattering of radiation.

C. Raman effect is related with melastic scattering.

D. Nature of Rayleigh scattering is imnelastic.

Choose the correct answer from the options given below:
1. A. B and D only
2. A.Band C only
3.Band D only

4. C and D only

Options :

68634071853. 1
68634071854. 2
68634071855. 3
68634071856. 4



Question Number : 64 Question Id : 68634018192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I TS TR 1T Sy A e g

A, VTR U 10 & o e iiofd weersr 1 eigfy safda fafewur #1 erafa & 90 gidl 3
B. At & U0 & RO TE 39 @< S 3 A el |

C. I YU ST Uh 0= J JafUd g

D. Yo UHI0H &1 THR AU §idl 6

Hid U U [doed] | ¥ 9ol 3R &1 944 S IolU;
1.PAAA.BTD
2. PAAA.BTC
3.%dd BID
4. PagCdD

Options :

68634071853. 1
68634071854. 2
68634071855. 3
68634071856. 4

Question Number : 65 Question Id : 68634018193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

List I List IT
(Equation Name) {(Values)
i dp L
A |TdS equation L |—=—
dT' TdV
B. |Gibbs-Helmholtz equation II. [TdS =dU +PdV
dG
C. [Law of conservation of energy] I1I [H=G - T —T]
N dT P
i fav
D. [Clausius clapeyron equation | IV. [Tds=CpdT -T LTI |
CL Jp

Choose the correct answer from the options given below:

1. A-II, B-I, C-III. D-IV

| )

CA-IV. B-IILL C-I1, D-I
3. A-TV, B-III. C-I1. D-I
4, A-I1, B-IV, C-III, D-I

Options :

68634071857. 1
68634071858. 2
68634071859. 3
68634071860. 4

Question Number : 65 Question Id : 68634018193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oy

gl 1 1 Yl 1 ¥ fieH sifore

1 (THBI &1 ATH) T I (AT)
dP L
A [TdS FHIPR Lo Tav

B. [1s0 geHgIced THI®H | IL [TdS = dU +PdV
C. [Folf TRefor &1 g 0. H=G_T[—'

=y
D. [FGd FeitRi- §HiHRU] IV. [Tds = CpdT -T| :;—‘;.I
\ L o

fFrafeiRad fasedi o I 98l 9Tk &1 99 Sifey
1. A-II. B-1. C-II1. D-IV
2. ATV, B-III. C-II. D-1
3. ATV, B-II1. C-I1. D-1
4. A-IT. B-IV, C-III. D-I

Options :



68634071857. 1
68634071858. 2
68634071859. 3
68634071860. 4

Question Number : 66 Question Id : 68634018194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If A=(2xy+3pz)i +(x" +2z 427 ) j - (3xy + yz) k. then curl of A at (2.-1, 1) is:

L—i+6]+2k

Options :

68634071861. 1
68634071862. 2
68634071863. 3
68634071864. 4

Question Number : 66 Question Id : 68634018194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ARE A =(2xp+3pz)i + (" +2z-422) J ~(3ap+ yz) k. T &G £ A TR (2.-1. 1) DT Pl o

L—f+6]+2k
2. —f-67+2k
3.-i+6j-2k
4._f_6j-2k

Options :

68634071861. 1

68634071862. 2

68634071863. 3
68634071864. 4

Question Number : 67 Question Id : 68634018195 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The angle between the tangents to the curve F=i=3ti+t°k at points y — +] 1s:

Options :

68634071865.
68634071866.
68634071867.
68634071868.

AW N =

Question Number : 67 Question Id : 68634018195 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s gt Raw 7 =1 -3+ 'k Fraeel F s Hone:

2. cos '[i]
11

i

3. cos —
|
-I.coa'{i]
11

Options :

68634071865. 1
68634071866. 2
68634071867. 3
68634071868. 4

Question Number : 68 Question Id : 68634018196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



It ¢ =3xy" — y'z". The area of the parallelogram. whose adjacent sides are 2i + j =4k at the point (1.-1.-1). 18 :

1. 645

!._.'I
[ 2}
oy

Lad

1045

- 55

e

Options :

68634071869. 1
68634071870. 2
68634071871. 3
68634071872. 4

Question Number : 68 Question Id : 68634018196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afd 4 =%;"-"2 2 B R I forgest G Yoty 20 + / — 4k Ul f8g (1.-1.-1) W grad® &, B
AP d o

Options :

68634071869. 1
68634071870. 2
68634071871. 3
68634071872. 4

Question Number : 69 Question Id : 68634018197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



s g o . Py dy ,
If y, =¢ *cosxand y, = e ¥ sinx are the two solutions of = + 22 1 2, =, then correct statement is:

e’ o

1. y; and y, are linearly independent.

2. y; and y; are linearly dependent.

3.y can be expressed as a scalar multiple of y,
4. y, can be expressed as a vector multiple of y,

Options :

68634071873. 1
68634071874. 2
68634071875. 3
68634071876. 4

Question Number : 69 Question Id : 68634018197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qﬁﬁ+2ﬂ:r2_r:{}$fﬁsﬁ yi=e¢ ‘cosxand y, =" sin.rf?f. ?‘ﬁﬂfﬁﬁ‘aﬂ%

o” fens

1.y; Ay, v@g MR-

2.y, Ty, @A FR 1

3.y, @y,  SHEY T0H & 3 H TR g o1 9@ g
4.y, Bl y, T AR A F 39 1 G o s 9o g1

Options :

68634071873. 1
68634071874. 2
68634071875. 3
68634071876. 4

Question Number : 70 Question Id : 68634018198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The force which is not conservative is :

-

1.F= (2xy + )+ 2+ 2xzk

[ ]
v |
I
—
-

'

|

-

[
e
—
ke

[
-

—_
T )

4 F=yzi+2x j+xvk

Options :

68634071877. 1
68634071878. 2
68634071879. 3
68634071880. 4

Question Number : 70 Question Id : 68634018198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

—

1. F=(2.\j}'+z"]f?+x f+2xz k

| ]
b7 |
]
—_—
-—
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|
-
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S
—_
-
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-
e
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Options :

68634071877. 1
68634071878. 2
68634071879. 3
68634071880. 4

Question Number : 71 Question Id : 68634018199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II for simple Harmonic motion (consider all motions in their usual meaning):

List I List IT
(Physical quantities) (Values)
A |Velocity I |am
B. Maximum velocity 1L (e.N]’ﬂ’: —x°
C. |Acceleration 1L fae” sin [m." + @
D. [Maximum acceleration| IV, |4

Choose the correct answer from the options given below:

1. A-IV. B-III. C-I1. D-1
2. A-LB-L C-IV. D-III
3. A-II. B-1. C-IIL. D-IV
4. A-TIIL B-IV. C-1. D-1I

Options :

68634071881. 1

68634071882. 2

68634071883. 3
68634071884. 4

Question Number : 71 Question Id : 68634018199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR 31ad 7Tid & g 1 1 567 2t 11 3 e S (@t dodl &1 vafed o aFe)

L T 1
(e iR (FTT)
AT I |aw
B. pR@aH a7 | I | py/a’ — x°
C. [ 111 Ja? sin (et =@
D. |3f¥®HdE @0 IV |aem?
frafef@d fdeeal & 9 9l Gk &1 994 DIfoiy ;

1. A-IV. B-III. C-II. D-1

| )

CA-L B-I. C-IV, D-III
3. A-IL B-I. C-III. D-IV
4. A-III B-IV. C-I, D-II

Options :

68634071881. 1

68634071882. 2
68634071883. 3



68634071884. 4

Question Number : 72 Question Id : 68634018200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Gauss's theorem is used to show that curl of the gradient of scalar function 1s equal to zero.
Statement IT: Stoke's theorem 1s used to show that divergence of the curl of a vector function 1s equal to zero.
In the light of the above statements. choose the correct answer from the options given below.
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II 1s false
4. Statement I is false but Statement IT is true
Options :
68634071885. 1
68634071886. 2

68634071887. 3
68634071888. 4

Question Number : 72 Question Id : 68634018200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIEEA RIS AARR [
TYF I: TS T FT S9N I8 S201a1 & [ ey B &1 waud &1 &d 0 & R sial g
FYF II: ©IF Y5 BT ITA1 T <21 & [ Wi B & Hdl BT SI¥R0 LA $ SaR el g
SWRIdd DY & 3l H, i 3T 7 fadsedi # 4 981 IR o1 79 BT

1. aF HYT 1 R I TR
ST S 1 3R 117 &
Y [ He! &, Qe HUF 11 7Ted &
4. DY 17107d 5. A= DY 1T el ©

[ ]

L]

Options :

68634071885. 1
68634071886. 2
68634071887. 3



68634071888. 4

Question Number : 73 Question Id : 68634018201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: If f'(x)= and f{o)=2.then 2.2 <{{1) <2.25

5-x°
Reason R: If y= f(x) 1s continious at each point of [a. b] and differentiable at each point of (a. b) then there iz

atleast on number ¢ between a and b for which M = f'(¢)

b-a
In the light of the above statements. choose the correct answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. A s true but R 15 false

4. A is false but R 1s true

Options :

68634071889. 1
68634071890. 2
68634071891. 3
68634071892. 4

Question Number : 73 Question Id : 68634018201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-9 3 Y= U MU §. TF @Y (A) F 20§ f[fad § O 3¥R1 S9% &R (R)F 39 1 B
AHfUDYT A: Tl f7(x }=—azﬂi(o)

qd22<f(1) <225

BRI R: TG [a, b] %uﬁm%ﬁmr f(x) TAd & U (a. b) T YA g R I@@ad e. dladbF &9

mﬁwwmcwmif ) @) _ ()

IWRIdd HYH & ATl 1. Ard U U fddhedi § I Tl I &1 98- I
1.AIRREI IAE IRR. AT Tel TRAT B
AJRRIF AT IR R AT G IR TR ?

3. AT e AfpAR 3T B

[ ]

4 AT EAPIRTIR

Options :

68634071889. 1
68634071890. 2
68634071891. 3
68634071892. 4

Question Number : 74 Question Id : 68634018202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
245 P dy .
If ax= + 2hxy + by* = 0; then f_ 18
dx

ax + hy
hx+ by

(ax+hy)
iy + by

[

, ax —hy
hx+ by

(ax+by)
hx - by

Options :

68634071893. 1
68634071894. 2
68634071895. 3
68634071896. 4



Question Number : 74 Question Id : 68634018202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i ax? + 2hxy + by?= 0 al @ %:

cx

5 _ (ax-w— hy)

frx + by

3 ax — h_l'
hx+by

Hoe (ax+by)
hx — by

Options :

68634071893. 1
68634071894. 2
68634071895. 3
68634071896. 4

Question Number : 75 Question Id : 68634018203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A rod of length [ supported from its one end O gets deflected by y = K (9x* - 13ix? + 3Px) if x is horizontal
distance from O and K is positive constant, then value of x giving maximum deflection is :

L
4

| )
—

%]
L | =~

[ S

Options :

68634071897. 1
68634071898. 2
68634071899. 3
68634071900. 4

Question Number : 75 Question Id : 68634018203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| TS B U B Ol 307 T R 0 W 931 8 TS 1=K (9x* - 1317 + 3Py gRIfe&Ua gl g1 afd o &
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Options :

68634071897. 1
68634071898. 2
68634071899. 3
68634071900. 4

Question Number : 76 Question Id : 68634018204 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The general value of Log(1+i)+log(1~i). where Log3 =log3+2nri . is:

oy

: Iogﬁ-r dnmi

| B

Nog2+4nmi

.Mg[l)ﬁ4nxf
2,

Jdogd+2nrmi

L]

e

Options :

68634071901. 1
68634071902. 2
68634071903. 3
68634071904. 4

Question Number : 76 Question Id : 68634018204 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



O Log3 = log 3+ 2nxi B T8 Log(1+1)+log (1)1 AHIFG HF &1 §:

—

-Ingﬁ:vﬂinf:f

[ ]

Nog2+4nmi

(

(%]

oo

(=

)i4nzf

/,__
b | —

4. logd+2nrmi

Options :

68634071901. 1
68634071902. 2
68634071903. 3
68634071904. 4

Question Number : 77 Question Id : 68634018205 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The asymptotes of the function ¥ = = 1 are:
X=
L.y=1,x=1
2oy=1,x=2
Jx=1ly=12
4.x=0y=0
Options :

68634071905. 1
68634071906. 2
68634071907. 3
68634071908. 4

Question Number : 77 Question Id : 68634018205 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Jx=1ly=2
4 x=0,y=0
Options :

68634071905. 1
68634071906. 2
68634071907. 3
68634071908. 4

Question Number : 78 Question Id : 68634018206 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy g 3i
The real and imaginary parts of cost cos [—
4

,_.

4
o

s
12

i
Ry RN ool
|
=]
=

[

3.—,—log3
4.%,—]0};2
Options :

68634071909. 1
68634071910. 2
68634071911. 3
68634071912. 4

Question Number : 78 Question Id : 68634018206 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fi-Fi . o~
cos ‘L%Jéﬁ qRde UG HIedi-idh HITT 6:

l.g,—lugl‘
T

2. —,=log2
1 g
)T |

3.5,—103;;

4.%,—]{1};2

Options :

68634071909. 1
68634071910. 2
68634071911. 3
68634071912. 4

Question Number : 79 Question Id : 68634018207 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1

The series expansion of tan™"x is:

\_3 \_5
R e S~

3

| )

Options :

68634071913. 1
68634071914. 2
68634071915. 3
68634071916. 4

Question Number : 79 Question Id : 68634018207 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



tan™1x BT 40T UOR %

5

X X
2ox——+—+..

2 3

] 5

3 X X
X — L

Z .3

Options :

68634071913. 1
68634071914. 2
68634071915.3
68634071916. 4

Question Number : 80 Question Id : 68634018208 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Solution Dfd—'_"'+ jd—} +ﬂ =Q1is:
ddx’ ax”  dx

1. y=Ce* +C,e™

| )

.y=C+(C,+Cx)e™
3. y=(C,+Cx+Cx’ e
4 y=C +Ce™

Options :

68634071917. 1
68634071918. 2
68634071919. 3
68634071920. 4

Question Number : 80 Question Id : 68634018208 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



_ng_-}’_,_ﬁ_(}ﬁfﬁﬁig:

-

edlx” ax”  dx

1. y=Ce* +C,e*

| )

y=C+(C,+Cx)e™

(]

Y= [ C, +Cx+Cpx’ }e &
4y=C+Ce™

Options :

68634071917. 1
68634071918. 2
68634071919. 3
68634071920. 4

Question Number : 81 Question Id : 68634018209 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A square sheet of side a i1s used to make an open top box by cutting squares of side x from each corner. The
value of x for which the volume of the box is as large as possible is:

,_.
[~

[

il oo

w2

Options :

68634071921. 1
68634071922. 2
68634071923. 3
68634071924. 4

Question Number : 81 Question Id : 68634018209 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a YO B TFH qIDR d1ex D1 SUTN THD TP B U x YOIl & G71f Bl HIeahx U Gol Y BT dlad
9 T U ST 81 x &1 98 A7 foreds forg aieq &1 Sifie ¥ 3ifee g 9vd ©;

,_.
ra | &

| )

[~ N -

th|a D

Options :

68634071921. 1
68634071922. 2
68634071923. 3
68634071924. 4

Question Number : 82 Question Id : 68634018210 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ifw= x>+ y—zsintand x+ y = #, then the value ~—<— is equal to:

|, 2% +sin (x+2)

2x+1

2x—cos(x+y)

| ]

2x+1

2x+cos(x+y)

2x-1

4 2%+ sin(x+y)

2x—1

Options :

68634071925. 1
68634071926. 2
68634071927. 3
68634071928. 4

Question Number : 82 Question Id : 68634018210 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[E."w y
&l 5 - T;.l- .": -
e =17+ y—zsintand x+y = ;.Wﬁ?ﬁﬁ CARERS
{ E’T / iz

| 2x+sin (x+y)

2x+1
2x—cos(x+ }'}

2x+1

2

2x+cos(x+y)
2x-1

g 2x+sin (x+)

2x—1

Options :

68634071925. 1
68634071926. 2
68634071927. 3
68634071928. 4

Question Number : 83 Question Id : 68634018211 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If @ is the cube root of unity then, value of (1 - @)% is :

1.—-9

| )
=

4. =3

Options :

68634071929. 1
68634071930. 2
68634071931. 3
68634071932. 4

Question Number : 83 Question Id : 68634018211 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



¢ o SHER PTG Al (1- ) BTAA G

=1
2.0
3.=27
4. £3
Options :

68634071929. 1
68634071930. 2
68634071931. 3
68634071932. 4

Question Number : 84 Question Id : 68634018212 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. =sint .
The integral of [ — dit 1s:
wi) i

1.0

[ )
|
r2 | H

b |

| H

Options :

68634071933. 1
68634071934. 2
68634071935. 3
68634071936. 4

Question Number : 84 Question Id : 68634018212 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T

t |

o R

Options :

68634071933. 1
68634071934. 2
68634071935. 3
68634071936. 4

Question Number : 85 Question Id : 68634018213 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Differential equation [+ + |]§ + vy =0 can be solved by variable separable method.
X

Reason R: A differential equation of the type 7 (u}? = g(x) can be solved by variable separable method as
dx

j_f[_l-'}dv=jg(.r]afr
In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

[ ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. A s true but R is false

4. A is false but R is true

Options :

68634071937. 1
68634071938. 2
68634071939. 3
68634071940. 4

Question Number : 85 Question Id : 68634018213 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-9 3 Y= U MU §. U@ @Y (A) F 90 T fafGd § O k1S9 SR (R)F 39 5
HFUBYT A: DT FHIBRT (1)L 0 BT TR GYBIel High T GRI T [T ST Hehell B

PRI R: _f(y-)% — g(x) PR B 3ghd YHIDHIU Bl =R JUDIHd Hichdl §RT 4 UHR g fbar o
X
W%j_{[]-‘}aﬁ' = Ig(.r]a(r

SWRIad DY & 3l H, - fGu U fasedl § I 98 Sugad Ia¥ &1 904 HifeU
1. A SRR &I GO E 3R R. A T TSt uram &
2. A SRR G T € SRR, A B T orem 12 &

3. AT e AfpAR 3B

4 AT AP RIOT D

Options :

68634071937. 1
68634071938. 2
68634071939. 3
68634071940. 4

Question Number : 86 Question Id : 68634018214 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: For a non conservative force field F, scalar potential can not be defined.
Reason R: Curl of a gradient 1s always zero.
In the light of the above statements. choose the correct answer from the options given below.
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. A s true but R 1s false
4. A is false but R is true
Options :
68634071941. 1
68634071942. 2

68634071943. 3
68634071944. 4

Question Number : 86 Question Id : 68634018214 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

1 g1 U U T §, U Sy A & 39U I [d1fEd § ol g8 99® RUIR & 39 4
STUEYT A: ot kel a0 &7 F & Ry oifaw fava ufeiitg 781 fean o Ioar 3|
SR R: B vauar &1 &l 9a QA a8
SURIad HUF & 3fdle J, H= G 7T fadedl & I ¥gl 3R &1 9a Sifoe

1. AR REH 9 € IR R, AP T AT ©

2. A SRR G I § AR R. A P! Tl O T8l &

3. AT e AfPAR 3T B

4 ANI R AP R AT .

Options :

68634071941. 1
68634071942. 2
68634071943. 3
68634071944. 4

Question Number : 87 Question Id : 68634018215 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: The distance of a point doing SHM from its mean position at three successive second are x;, X,
X +Xx,

x 3 respectively. Given x= a sin @t. The value of @ = €08~ —
: 2x,

2
Statement IT: The time period of the above SHM is = . [ X+, |
cog | —2 J
X

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement IT are true

b2

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT 1s false

4, Statement I is false but Statement II is true

Options :

68634071945. 1
68634071946. 2
68634071947. 3
68634071948. 4



Question Number : 87 Question Id : 68634018215 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BYTL: O PHIG JBS U, WA 1A T DI §U [l DU DT g3 PH: x, x5, x; 81 [GATB x=asin

X +x,
1
otl @ =Cc08 ——=3|

2

YT I1: SRIF T 311Qdﬂi?raﬂ&|a?%m LHHJ &
2

SWRIGd DY B el 1, A S 7Y fadetl o 9§ 9ad SUgad 3o &l 99 HIT;
1L.GFIPUTTI 3R 19T &
GHIT YT 1 3R 19T el &

Y19 8, AfhT DU 11 3T B

[ )

Laa

DY ITA 8, AT YT I I B

=y

Options :

68634071945. 1
68634071946. 2
68634071947. 3
68634071948. 4

Question Number : 88 Question Id : 68634018216 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The inverse of the matrix A. if exists 1s:

1 2 1

Where a={2 1 -I

1 5 4
1 00
1.,-2 1 0
-3 1 1

2.|A|=0
1 2 1]
3.0 3 3
0 0 0|
1 2 1]
410 1 -1
11 3 4]
Options :

68634071949. 1
68634071950. 2
68634071951. 3
68634071952. 4

Question Number : 88 Question Id : 68634018216 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe ¥4 gl dl 3culg A Pl oYehH & Sieid .q:l

_..,_
]
o | i
N

Options :

68634071949. 1
68634071950. 2
68634071951. 3



68634071952. 4

Question Number : 89 Question Id : 68634018217 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: For any matrix A, B € M, . , (F). det(A B) = det(A). det(B).

Statement IT: If M is skew-symmetric matrix of odd order . then M is singular.

In the light of the above statements. choose the eorrect answer from the options given below.

1. Both Statement I and Statement II are true

| ]

. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false

4, Statement [ is false but Statement II is true

Options :

68634071953. 1
68634071954. 2
68634071955. 3
68634071956. 4

Question Number : 89 Question Id : 68634018217 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR RymE:

DY I: TR A. B € M, (F) & o7, IRIUD (A B)= TRIU® (A) TR0 (B)
HUT 11: T v 759 5 o1 famm Safig smegg € @t m Tt B

QRIFT BYF & AP H, Ad [SU U [dhed] H ¥ el 3= &1 944 BI9iu:

1. GFI B 1 SR 11 Hel 8
2. SR B R 1 7TEd ©
3. YT TG §. b HYA 11 7T0d ©
4. BYF 17T0d &. Al PYT I 98l &

Options :
68634071953. 1
68634071954. 2



68634071955. 3
68634071956. 4

Question Number : 90 Question Id : 68634018218 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The positive number(s) which is /are root(s) of the equation X — 34/ x = 4:

1.1,16

| ]

.16

4.1.4

Options :

68634071957. 1
68634071958. 2
68634071959. 3
68634071960. 4

Question Number : 90 Question Id : 68634018218 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JHIHR x — 3V x = 4% YD ga &

1.1, 16

| ]

.16

4. 1.4

Options :

68634071957. 1
68634071958. 2
68634071959. 3
68634071960. 4

Question Number : 91 Question Id : 68634018219 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the equation x*—15—m (2x—8)= 0 has equal roots, The values of m is:

1.2,

wn

(]
%]
| )

L]
(75}
.l

4.1,

]

Options :

68634071961.
68634071962.
68634071963.
68634071964.

AW N =

Question Number : 91 Question Id : 68634018219 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gHI®0 +2-15-m (2x—-8)=10 %@Wﬁ?ﬁm%ﬂ'ﬁ%:

125

[
Laa
[ )

4. 1.

L

Options :

68634071961.
68634071962.
68634071963.
68634071964.

AW N =

Question Number : 92 Question Id : 68634018220 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

Discriminant of the equation LISTII
A | Zero 1. |Real and rational
B. |Positive and a perfect square II. [Complex
C. [Positive and not a perfect squarg III. |Real and equal
D. [Negative IV |Real and irrational

Choose the correct answer from the options given below:

1. A-I. B-IL C-IIL. D-IV

| E)

AL B-1, C-IV. D-II
3. A-IL B-I. C-III. D-IV
4. A-IV. B-1. C-II, D-III

Options :

68634071965. 1
68634071966. 2
68634071967. 3
68634071968. 4

Question Number : 92 Question Id : 68634018220 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg
= 1 (HHIP & [Aidaey) T I
A B 1. [arsdfde T ofvdg

B (@@ udued yuial | I [midy

C [memwEgasEiTe | m [ardids td Rt
D. [BUTHE IV. [ardfd® ud iy
fAafafad faeedl © O 98! SO &1 99 Hifoie -

1. A-I. B-II. C-III. D-IV

|

AL B-1L C-IV. D-IT
3. A-IIL, B-I. C-III. D-IV
4. A-IV. B-1., C-II, D-III

Options :

68634071965. 1
68634071966. 2
68634071967. 3
68634071968. 4



Question Number : 93 Question Id : 68634018221 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Determine which of the following systems of linear equations have unique solutions:

X +3x,=4

A
2x, +5x, =3
X +2x =5
5 2
X, —x, =-1
X +2x,=0
84
x,—4x,=0

D.X+2x,=-3x%+x,=0
Choose the most appropriate answer from the options given below:
1. A.B. D only
2. A Bonly
3.A.C.Donly
4. A, B. C only
Options :
68634071969. 1
68634071970. 2

68634071971. 3
68634071972. 4

Question Number : 93 Question Id : 68634018221 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafaa Wi griie & Feiai &g sifgda &

X +3x =4

A
2 Hax =3
X, +2x, =5
- 2
X =% =-1
x;+2x,=0
e 2
x,—4x,=0

D.x, +2x,=3x;,+x,=0

o fgu T 9wl 3 T Ued SR SR & 99 S
1. PAdA.B.D

. Pad A.B

3.%dd A.C.D

4.%dd A.B.C

[ ]

Options :

68634071969. 1
68634071970. 2
68634071971. 3
68634071972. 4

Question Number : 94 Question Id : 68634018222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The relation y =logsx implies:

o

L)
e
Il

._<

4.y°=3

Options :

68634071973. 1
68634071974. 2
68634071975. 3
68634071976. 4



Question Number : 94 Question Id : 68634018222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a3 y = logzx vefid sRdrg:

1.x¥=3
2.3=x
3.%° =3y
4.y'=3
Options :

68634071973. 1
68634071974. 2
68634071975. 3
68634071976. 4

Question Number : 95 Question Id : 68634018223 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dy . dv 2y

The particular integral ofT+ 35+ 2y =sin (e*). if the complementary functions are y, =¢ “and y, = ¢, is:
e dx i o

—

e sin (e ¥)

| ]

e 2 sin (¥)
ol X
do=e = an ()
. X
4. —e=* s (%)

Options :

68634071977. 1
68634071978. 2
68634071979. 3
68634071980. 4

Question Number : 95 Question Id : 68634018223 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Uy = e Fand y, = ¢ B BEA LA “;-‘“' + 3%+2y — sin (¢* ) @1 2 TP ¥
ax oy

1. ¢ sin (e ¥)

| )

e sin (9)
3. —e Zgin (e5)
4. —e** sin (%)

Options :

68634071977. 1
68634071978. 2
68634071979. 3
68634071980. 4

Question Number : 96 Question Id : 68634018224 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The orthogonal trajectory of the family of curves ;> = ggin 20 18 :

fa—y

¥t =asin28

| B

7 =—acos26
3. rP=—gsin2@
4. r? = gcos28

Options :

68634071981. 1
68634071982. 2
68634071983. 3
68634071984. 4

Question Number : 96 Question Id : 68634018224 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P 12 = a sin 260 P JNIR DT I YT TY B

3 N
l.r"=asin 20

[

. pS =—agcos2d

3.p* =—asin 26

=Y

.r* =acos2d



Options :

68634071981. 1
68634071982. 2
68634071983. 3
68634071984. 4

Question Number : 97 Question Id : 68634018225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

bk
[T

: . 0
The determinant of the matrix A=

[ ]
[ ¥7%)
[

4.-10

Options :

68634071985. 1
68634071986. 2
68634071987. 3
68634071988. 4

Question Number : 97 Question Id : 68634018225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

01 3 -3 4
amagga-” | T e ERe srArE:

4 4 4 =g

[ ]
L%}
=)

4. -10

Options :

68634071985. 1
68634071986. 2
68634071987. 3
68634071988. 4

Question Number : 98 Question Id : 68634018226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the following statements:

A The value of determinant remains unaltered if the rows are interchanged into columns and vice versa.

B. If the two rows of a determinant are mterchanged. the sign of the value of the determinant does not
change.

C. If the two rows of a determinant are identical. the value of the determinant 1s zero.

Choose the most appropriate answer for correct statement from the options given below:
1. B and C only
2. A B and C only
3. Aand C only

4. B only

Options :

68634071989. 1
68634071990. 2
68634071991. 3
68634071992. 4

Question Number : 98 Question Id : 68634018226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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=i fau v f[deegl 1 O 98l suAl & o 98 3d 3R &1 994 BIIu:

1. FaABTC
2. %dd A.BAC
3.%dd ATC
4.%dd B

Options :

68634071989. 1

68634071990. 2

68634071991. 3
68634071992. 4

Question Number : 99 Question Id : 68634018227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

&

Statement I:The equation of path of the projectile shown in the picture 15 y = rtano 15
X7 uoET

-ll

M
= ]
T p
(x.¥)
£l
= X
0 —ncos

Statement IT: The greatest height reached by a projectile thrown at 30° angle for 6 and v=20 m/s 15 10 m

(g=10 m/ 33).

In the light of the above statements. choose the correct answer from the options given below.

1. Both statements (I) and (II) are true

[ B

. Both statements (I) and (II) are false
3. Statement I is true but statements II is false
4. Statements I is false but statements I1 is true

Options :

68634071993. 1
68634071994. 2
68634071995. 3
68634071996. 4

Question Number : 99 Question Id : 68634018227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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SRS HYT & AEIP 1, A U U fhadi § I 999 Yol IR B 99+ HIoil;

1. G YT 1 SR 11 ST el R

2. G HYA 1 3R 11 7Tad ©
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4, PYF 1T . b HYT 1 Ta1 &

Options :

68634071993. 1
68634071994. 2
68634071995. 3
68634071996. 4

Question Number : 100 Question Id : 68634018228 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Lorentz force 1s expressed as F=qk+ ‘i’{ Lo B_} where ', 4, E,v and B have their usual
meaning.

Statement IT: Magnetic force on an electron, moving in Y direction inside field B directed along Z direction
acts in negative X-direction.

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true

b2

. Both Statement I and Statement II are false

(5]

. Statement I is true but Statement IT is false

4, Statement I is false but Statement II is true

Options :

68634071997. 1
68634071998. 2
68634071999. 3
68634072000. 4

Question Number : 100 Question Id : 68634018228 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634071997. 1
68634071998. 2
68634071999. 3
68634072000. 4



